Foundations and Pre-Calculus 10

6.1 Slope of a Line

From page 332 of your textbook:

Construct Understanding

TRY THIS

Work with a partner.

This diagram shows different line segments
on a square grid.

A. Think of a strategy to calculate a number
to represent the steepness of each line
segment.

B. Which is the steepest line segment?
How does your number show that?

C. Which segment is the least steep? How does its number compare

with the other numbers?
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The slope of a line segment is the same as its rate of change, which we calculated in Chapter 5.
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Work with a partoer.

This diagram shows different line segments
on a square grid.

A. Think of a strategy to calculate a number
to represent the steepness of each fine
segment.

B. Which is the steepest line segment?
How does vour number show that?
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C. Which segment is the least steep? How does its number compare

with the other numbers?

The slope of a line segment is the same as its rate of change, which we calculated in Chapter 5.




Example: Determine the slope of each line segment.
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Example: Determine the slope of each line segment.
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Example: Draw a line segment with each slope. %\ i i 6
\\ ¢ [ T
5 Pl
a3 b) -2 c) -2 d)0 \ s |
g T — :
: 7 5 s
— ‘\A.S\/ ”/ ; ' J‘h
1 A ?
P4 i
M\;\OQ’QJ o
C 5 e E !
A 4
W con ploY
Example: Determine the slope of a line that passes through each pair of points.yc R O\QPU\ge,

a) A(4,-5) and B(8,6)
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b) X(3,6) and Y(3,10)
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Rate of change =

rise y,-y, &
run X, —Xx

vertical change
horizontal change

—» slope=
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Example: Tom has a part-time job. He recorded the hours he worked and his pay for 3 different
days. Tom plotted these data on a grid.

Graph of Tom's Pay

| b) What does the slope represent?
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a) What is the slope of the line through these points? S‘OP e =

. . Tomm makes
(e 0F change =\2= %2/ T$l 2 pex houl
c¢) How can the answer to part b be used to determine:

i) how much Tom earned in 3 % hours? | 2 x4, 5 = $ 42

i) the time it took Tom to earn $307

B0+ 12 =2 S hours






